ﬂé Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answers

Which choice has a 1 with the value of 100 or 1 hundred?
A. 5,186 B. 9,213 C.1,762 D. 2,541 1
Which choice has a 6 with the value of 6,000 or 6 thousands? 2
A. 6,542 B. 4,916 C. 13,962 D. 3,126 5
Which choice has a5 with the value of 50,000 or 5 ten thousands? 4
A. 96,835 B. 37,265 C. 271,596 D. 52,918

5.
Which choice has a 2 with the value of 20 or 2 tens?
A.234 B. 254 C.921 D. 462 6.
Which choice has a5 with the value of 500 or 5 hundreds? [
A. 1,865 B. 9,546 C. 56,731 D. 9,235

8.
Which choice has a 7 with the value of 7,000 or 7 thousands? 9
A. 7,439 B. 5,749 C. 738,564 D. 5,167

10.
Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 84,961 B. 845,176 C. 857,263 D. 826,935 11.
Which choice has a 4 with the value of 40 or 4 tens? 2.
A. 742 B. 487 C. 4,291 D.54
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 197 B. 3,925 C. 9,148 D. 394
Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 63,289 B. 1,687 C. 9,526 D. 6,219
Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 581,936 B. 16,482 C. 354,687 D. 854,721
Which choice has a 3 with the value of 30 or 3 tens?
A. 43 B. 34 C. 318 D. 386
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ﬂé Examining Digit Place Value Name:

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Answer Key

Solve each problem. Answers
Which choice has a 1 with the value of 100 or 1 hundred?
A. 5,186 B. 9,213 C. 1762 D. 2,541 LA
A
Which choice has a 6 with the value of 6,000 or 6 thousands? 2 _
A. 6,542 B. 4,916 C. 13,962 D. 3,126 5 D
Which choice has a5 with the value of 50,000 or 5 ten thousands? 4 C
A. 96,835 B. 37,265 C. 271,596 D. 52,918
5. _ B
Which choice has a 2 with the value of 20 or 2 tens?
A. 234 B. 254 C. 921 D. 462 5. A
Which choice has a5 with the value of 500 or 5 hundreds? ! L
A. 1,865 B. 9,546 C.56,731 D. 9,235 A
8
Which choice has a 7 with the value of 7,000 or 7 thousands? 9 B
A. 7,439 B. 5,749 C. 738,564 D. 5,167
0. D
Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 84,961 B. 845,176 C. 857,263 D. 826,935 1. A
Which choice has a 4 with the value of 40 or 4 tens? 12 i
A. 742 B. 487 C. 4,291 D.54
Which choice has a 9 with the value of 900 or 9 hundreds?
A. 197 B. 3,925 C. 9,148 D. 394
Which choice has a 6 with the value of 6,000 or 6 thousands?
A. 63,289 B. 1,687 C. 9,526 D. 6,219
Which choice has a 8 with the value of 80,000 or 8 ten thousands?
A. 581,936 B. 16,482 C. 354,687 D. 854,721
Which choice has a 3 with the value of 30 or 3 tens?
A.43 B. 34 C. 318 D. 386
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